The Winnie the Pooh

(Michal Jakubek)

In one neverending world there lived a Winnie the Pooh with
his friends. They were the kangaroo, tiger, owl and donkey.
They had an argue, who is the heaviest and |
who is the strongest. The owl proposed to
measure their weight. The kangaroo was
weighting 14 kilos, tiger was 32 kilos and the
Pooh was weighting more than all his friends.
It was 7 kilos more.

Pooh was: a) 107 b) 187 c¢) 89)

They found out that the Pooh is the
heaviest.

Tiger asked: And what about the second competition. Who is
the strongest? The clever owl said: Pick up the stone, who is
in front of the fence. The winner is who will hold the stone
the longest.

Kangaroo held the stone for 1 minute, Pooh for 2 minutes.
Donkey for 2 minutes and Tiger held the stone 8-tfimes more
than the others together.

Tiger held: )90 min b) 40 min ¢) 74 min

They found out that the tiger was the strongest. They
understood that it doesn”t matter who is the strongest or
who is the heaviest. It is very important that they have
each other.




